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SERR2TAEE 8,057 617 585 647 666 615
28 8,150 626 570 616 636 582
29 8,310 653 575 617 689 646
30 6,499 513 483 555 566 523
SHTEE 6,463 454 432 580 561 490
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Ry 2T AR FE 637 439 290 293 321
28 637 435 285 322 313
29 633 449 311 341 297
30 509 327 233 241 211
SHTERE 549 257 194 229 205
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Rk 27 AR FE 595 709 679 668 249 47
28 613 755 733 725 239 63
29 633 758 727 680 229 72
30 490 543 537 520 139 109
SHTERE 543 603 597 570 144 55
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K2 7 A 72,328 20,063 5,306 21,776 25,183
28 73,418 20,318 5,490 23,129 24,481
29 53,979 14,637 4,142 16,908 18,292
30 47,058 12,361 4,332 13,218 17,147
SHTEE 41,315 10,484 3,783 11,043 16,005
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